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5Xx-4y+2y-Xx

x%-3x-3x-7x"

(6x+3y)+(4x-7y)

(-2x+9y)-(5x-4y)

(12x%-7x+1)+(8x +7x-5)

=5x-Xx-4y+2y =(1-7)x%*+(-3-3)x° =6x+3y+4x-Ty =-2x+9y-5x+4y =12x°-7x+1+8x°+7x-5
=(5-1)x+(-4+2)y =-6x°-6Xx =6x+4x+3y-T7y =-7x+13y =20x°-4
-x + 3y a + 2b + 1 -4(2x-y) (-15a+21b)+ 3
+ 2x - 2y -) 6a - 7b + 9 =-8x+4y = -15a +_21b
-5a + 9b - 8 3 3
[1]
3(a-b)+7(2a-b) 2(3x+y)-5(x-y) Ixx (-6y) -24a+ 8a
=3a-3b+14a-7b =6x+2y-5x+5y =9x (-6)x xx y 2x+3y=12 [x] =-24a
=17a-10b =X+ =-5 2x=12-3y 8a
w=12=3v_¢ 3, =-3
2 2
5 x=3,y=-5 x=3,y=-5
14xzy+ (-2xy) 15xy+ Py X (2x+y)-(x-3y) 12x2y+ 3xx y
=14x’y
-2xy =15xy, 8 - (2x+y)-(x-3y) 12x°y+ 3xx vy
1 5x 2
=-7X =x+4y =4xy
=24y CD = 3+4x (-5)=-17 =4x 3x (-5)2=300
ai a2 [ 1 as 5 aa as
a’x a? 18xy+ (-3y)x Z_X (2.8a-0.9b-c)-(a+0.9b-6c)
=ax ax ax ax a I=2m r [r] 18 : 5 =2.8a-0.9b-c-a-0.9b+6¢c
=as’ 2m r=1 20XV, x  2X =1.8a-1.8b+5¢c
1 (-3y) 2
" Ton =-15x* >
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